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QUESTION 1

Assuming that Star products and Husky products are sets, 

which statement below is correct about the sets in the graphic? 

A. Each set is a grouping of members from different hierarchies. 

B. The report creates a query for each member ofthe set. 

C. The query displays each set as all the members of the level. 

D. Each set can be sorted and aggregated. 

Correct Answer: D 

 

QUESTION 2

Why would a report author consider overriding the default drill behavior? 

A. To maintain the behavior of a complex edge expression after drilling, such as one which returns the top 5 members of
a set. 

B. To replace all members within a hierarchy when drilling through to a report with more detail. 

C. To drill down to the lowest level of the hierarchy and then drill down again to display only one member. 

D. To drill down on a member and have its children display as details and have the member drilled on display as
summary. 

Correct Answer: A 

 

QUESTION 3

The dialog box shown appears when a report is run. 
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What should the report author do to correct the situation? 

A. Ask the modeler to rename the hierarchy to \\'[sales_and_marketing].[Products].[Products].[Products]\\', and to
republish the package. 

B. Modify the expression to change the \\'currentMember\\' function to \\'currentLevel\\'. 

C. Modify the expression to change the \\'currentMember\\' function to \\'currentHierarchy\\'. 

D. Modify the expression to \\'currentMember([sales_and_marketing].[Products].[Products])\\'. 

Correct Answer: D 

 

 

QUESTION 4

Which term below best describes the selected cell in the crosstab? 

A. Level 

B. member 

C. Tuple 
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D. Revenue 

Correct Answer: C 

 

QUESTION 5

A report author can use a slicer to dowhat? 

A. Make the report database smaller and efficient 

B. Provide context to intersection values 

C. Reduce the number of members on the edge of the crosstab. 

D. Generate a zero suppression filter in the rows 

Correct Answer: B 
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